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Przebudowa ulicy Reymonta na odcinku od ulicy Żeromskiego do ulicy Słowackiego
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 ELEMENTY TRASY L = 9.62 m

L = 33.85 m

R = 501 m

L = 102.05 m L = 92.48 m

L = 20.56 m

R = 30 m

L = 19.24 m

R = 33 m

L = 7.42 m

k
m
 0

+
2
5
3
,0

9
R
z
. 
1
0
8
,0

0
  
  
B
ra

m
a
 n

a
 d

z
ia
łk

ę
 n
r 
1
8
0

u
l.
 M
ic

k
ie

w
ic
z
a

k
m
 0

+
1
8
7
,3

3
R
z
. 
1
0
7
,3

3
  
  
B
ra

m
a
 n

a
 d

z
ia
łk

ę
 n
r 
4
9

u
l.
 M
ic

k
ie

w
ic
z
a

u
l.
 J

o
d
ło

w
a

rz
. 
1
0
6
.6

9

rz
. 
1
0
6
.6

6

k
m
 0

+
0
9
0
,6

9

k
m
 0

+
0
8
0
,1

5
R
z
. 
1
0
6
,1

5
  
  
B
ra

m
a
 n

a
 d

z
ia
łk

ę
 n
r 
3
8

R
z
. 
1
0
6
,2

5
  
  
B
ra

m
a
 n

a
 d

z
ia
łk

ę
 n
r 
1
1

R
z
. 
1
0
5
,1

7
  
  
B
ra

m
a
 n

a
 d

z
ia
łk

ę
 n
r 
1
0

k
m
 0

+
0
1
8
,4

3

u
l.
 Ż

e
ro

m
s
k
ie

g
o

Przekrój podłużny


